6-4

o
R

A\

7-4

6-3

/-3

8-3

6-2

/-2

R

2

Rl

2

s\

MR RE R LG

=
=

42%1184

o

> 42%11E5E

—> 42F2EEK

toTY,

N D

1

19

16

i

& ¥
N e
Sim
M
=1y
__m_..w
B4
ue
1)

(AN

i

O 7 e

VeI R WEER
HLRLOPIVLE Lo P &
R QIITERT &
S

BEREN 4 R NFES

3]

HHZ ek Q 8 Q 0 30 U0 =0
OV WiREleERIFEDSY’
T VB IRGnT BE#R

H BH REUS0REORE

LeP OV WEE
B R T 0
S EHRECEMS
S A A

2 HE I £ A0
HRE S PA°
HOmE RN RO

A

ok 88K AT

i

AN L L

e

ma

LA SR —

T

i

e PR R

14

IE

ELE)

e

5

= D

% I

[— 26,000

No.7-3

1:2,500

3143 1Bk

500

400

300

200

100

90

1m




